W @ % % Addition von Briichen ( richtiger Bruch ) ( unechter
‘ Bruch )

Name: Datum: Ergebnis:
3 7 6 1
Z 4+ = — 4+ - =
4 2 9 9
72 5 3
—+ = = —_ 4+ =
8 5 2 8
5 6 4 2
8 9 5 6
7 4 2 3
3 6 3 5
4 3 11
8 4 7 4
1 4 2 7
7 7 3 5
5 5 3 5
4+ = — 4 - =
9 2 5 4
7 3 5 4
—+ = R
4 2 77
5 2 4 4
4+ == -+ - =
2 7 3 6
2 5 3 7
—_+ = -
4 4 6 9
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Addition von Briichen ( richtiger Bruch ) ( unechter

Bruch )
Name: Datum: Ergebnis:
3 7 17 1 6 1 7
T4l =4 ==
472 4 74 9 9 9
7 2 5l 11 5 3 23 7
e 42 = o
8 5 0 40 2 8 8 8
5 6 31 7 4 2 17 2
iy pun e
8 9 2 24 5 6 15 15
7 4 2 3 19 4
—+-=3 )
3 6 3 5 15 15
4 3 5 1 I 1 11
—+Z==1- o= —
8 4 4 7 4 28
1 4 5 2 7 31 1
—+ === —+t-=—==2—=
77 3 5 15 15
5 5 55 1 3 5 37 17
-+ —=—==3— —t+-=—==1—
9 2 1 18 5 4 20 20
7 3 13 1 5 4 9 2
4= o3 A =
4 2 4 4 77 7
5 2 39 11 4 4
4= S+ 2=9
2 7 1 14 3 6
2 5 7 3 3 7 23 5
St e
4 4 4 4 6 9 I8 18
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